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ERROR MESSAGE
When I print the report below error came
“System error in calculation expression on the row structure:IS dimension name:Net profit”
If there is any problem in the calculation expression this error also come in the IS but its working fine. Another thing, if I select the another node from IS the value came.
Warm Regards
MS
image1.png
B structure designer (1 - knet) - Row defi [-[CIx]
ce

Tree controls [ check: [T simulste: [

Row defton: [T8 | Name: [Tralbaanes
Designer |32t
[s) B3 Company General | setup | Special repart |
Geate 2 11101001 - ety Cash
2 11102101 - BBK KD AC# 2060105731 Rowname:  [ne
=2 2 11102151 - AUBK-KD ACH11S64756 o description: [WoE
. 2 11102201 - Gul Bark of Kt -LISD# 04624033
2 11102202 - GBK-UISD# 04524680 Printname: [ToNAME
% 2 11102203 - Gulf Bank of Kunat - 5167313 Print descrpton: [ FDESCR
2 11102204 - Gl Bark of Kt - 5441031
Delete 2 11301010 - Receivables - Government Type: [structure
2 11301020 - Receivables - Freign
Copy
&
vove
prne
Mo« | Mame ofthe lement | A0 | kWD | knet | Admimst | close





image2.png
B Structure designer (1 - knet) - Row name: Net, N

“e
Treecontrol 0 check [T Bimiaiail
Row defiion: [T8T Nane: [Taeleanes
Designer |seun |
i} = £ Company Gereral Setup | Speci repart |
Greate 2 11101001 - petty Cash
2 11102101 -85 KD AC# 2060109731 Topi Waraccort
=] 2 11102151 - AUBKKD ACH1 1564756 conceintons [ =
— 2 11102201 - Guf Bark of Kuwalt USD# 04824035
2 11102202 - GBK-USD# 04524660 ranch et ot
2 11102203 - Guf Bark of Kt - 5167313
Inderte
% 2 11102204 - Guf Bk of Kt - 5441091 r
Dekte 2 11301010 - Receivabls - Government Header r
2 11301020 - Receivabls - Freign bt -
o 3 Nat- et
oy it subcamponents: 7
vt san r
h bil i
HMove Debit/Credi:
- Reference: ESED
Pt
| ) | kWD | knet | Administ Close

M < i b b [[2]] ) | simuate the row defnicon.





